wod durquonwilso mmm//:dny

http://www.csjmuonline.com

[ Booklet Code | Geography
F Paper-1
(Physical Geography)

Time: Three Hours ]

[ Maximum Marks : 75

Note : Attempt all questions. Each

1.

e : Tt ve fE €1 9RdS yEHl & 3D
o= 2l

3 SR 3 THER I TR Juieq

question carries equal marks.

Animals that completely depend on 1.

vegetation animals are called:

(A) Carnivorous

F PR g €, Peca €

(AY FreEry

(B) Omnivorous (B) SEIRIRY
(C) Harbivorous (C) Smpyetn
(D) None of above (D) 3WH | A DIE e
Ecology is the science of: uRffet foem € -
(A) Animals (A) g =i B
(B) Human group @(‘:ﬂ:ﬁ' '\q‘i@ DI
(C) Community _ (C) HHEr™a 31
(D) Plants and animals in relation Wﬁﬁpﬁ ¥ iRl & qHe
to environment ' ‘ Gal

Environment includes the follow- 3. qgiaxor § ﬁqﬁﬁ‘@a I et £
ing elements: (A) T
(A) Air

(B) 3™
(B) Water
(C) Temperature (C) deH=
(D) All of the above (D) T
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Noise Pollution means:

(A) High frequency of Sound

(B) Loud Sound

(C) Unwanted Sound

(D) Environmental Conservation
Ecological Science is related to the
following subjects.

(A) Geography

(B) Zoology

(C) Botany

(D) Al of the above

Which gas has highest percentage
in the atmosphere?

(A) Carbon dioxide

(B) Oxygen

(C) Nitrogen

(D) Helium

Which metro-city is called 'smog
city'?

(A) Indore

(B) Delhi

(C) Bhopal

(D) Kolkata

Land sliding occurs in:

(A) Plains

(B) Hills

(C) Plateaus

(D) Coastal area

553\F
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(B) A &

(C) st el

(D) uafaRoT HRem

iR R e freai & weferd
3.

(A) gt

(B) WONITA

(C) a=afcreme

O T i
aqugaﬁ%ﬂﬂﬂaimafﬁmu%m
&2 '

(A) R 81§ 3MawTgs

(B) SiigEisH

LQ/q'ﬁ'a:"' |

(D) Ao

foq mEmTR B wim R s s
& -

(A) =R

B)

(C) «rare

(D) DD

T BT
(A) HFETE
\B;:éaﬁ |
(C) BRI A .

(D) e &t &
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11.

12,

13.
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Plant Plankton is found in:
(A) Oceans

(B) Plains

(C) Hills

(D) Forests

The transitional zone between two
ecosystems is called:

(A) Biome

(B) Biotope

(C) Ecotone

(D) Sere

Who among the following used the
term "Ecosystem" for the first
time?

(A) Haeckel

(B) Hippocratus

(C) R.Lindeman

(D) A.G. Tansley

Which of the following is an ex-
ample of "Geotectonic Hazards"?
(A) Volcanic Eruption

(B) Flood

(C) Tsunami

(D) Cloud burst |

What type of Nile river delta?

(A) Arcuate delta

(B) Bird foot delta

(C) Truncated delta

(D) Growing delta

553\F
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9.

10.

11.

12.
. @1 TP J&Te}0T 2|

13.

qreq dfarer frerar @ -

(A_).."ﬁ?l'ﬂFRsfﬁ

(B) =i &

(C) ueifgal #

(D) @i A

A TR o= & 7 & FHAvl
HUSE Y BET I & ¢

(A) TE™

(B) sEI™

Oy

(D) :|

Prefoiaa 3 & e wdmem “oRRufas
g o= & yam fear?

(A) &l

(B) Redipes

(C) IR.feaodw=

oY T, T
FmfeRaa # / o “yfawdiFe e

(A) ST IR
(B) W%

(Y T

(D) e B
e 78 1 32T H ToR @ &7
Wm%m
(B) USIHR eer

(C) wfea 3w
(D) 3myaelt e
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17.
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Which of the following is not a
metamorphic rock

(A) Marble

(B) Slate

(C) Quartzite

(D) Sand stone

A block elevated between two nor-
mal faults is called

(A) Graben

(B) Horst

(C) Monocline

(D) Anticline

Which of the following is not an
example of Sedimentary rocks?
(A) Slate

(B) Lime stone

(C) Coal

(D) Gabbro

Which of the following clouds is
responsible for maximum amount
of rainfall?

(A) Cumulus

(B) Cumulo-nimbus

(C) Nimbo-stratus

(D) Cirro-stratus

The "Shricking Sixties" are related
to: '

(A) High tides

(B) High altitude winds

(C) Heavy rainfall

(D) Thunderstorm

553\F

15.

16.
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(A) TTHIR

(B) W
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(D) e U
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(A) U

By &

(C) Uderied

(D) ik

Fr=rifsa # 3 i 3w Il & FEERT
T 8?

(A) T

(B) AT 9K

(C) Praen

(D

frafefaa 4 4 o W a-d Iit®
g auf & o/ ITRer 82

(A) IR |

(gyéwm"r-aq’f

(C) auf-wy

(D) Q&TH-T

A - freen s 22

(A) 3= =R

(B) S ¥ o

(C) HemeR asf

(D) oS sigmy
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Bolsons are associated with:
(A)
(B)
()
(D)

Glacial topography

Karst topography

Arid topography

Running water resultant to-

pography

World's largest reserve of uranium

is found in:

(A) Australia
(B) Brazil

(C) Canada

(D) South Africa

Maximum damage due to an
Earthquake is caused by:

(A)
(8)
(©)
(D)
The

S.waves

P.waves

L.waves

All are equally disastrous
nature of vegetation in the
world changes according to:

(A) Latitude

(B) Longitude

(C) Nature of Soil

(D) Climate

What is the length of equatorial di-
ameter of the earth?

(A) 12,737 km

(B) 12,797 km

(C) 12,717 km

(D) 12,756 km

553\F

(5]

19.

20.

21,

22.

23.
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(A) feoriiga wrempld @
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(C)/ G Rt |
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(B) aroia A

(C) o=mgr 4

(D) <f&mor i |
& ¥ waifts = & srRor & @

(A) S-TR

(B) P-oiR

() arei

(D) Wit WA ¥ J TfERs &
faea % awafa % secmE s @ -
(_%&risﬁﬂsalgﬂn

(B) Q=R & AR

(C) Pt & Rrdvwemsii & srER
(D) @Ry & AR

7ot & yen W 2 A oA an

&P

(A)12,737 km
(B) 12,797 km
(C) 12,717 km
(D) 12,756 km
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What does term loess refer to?
(A) River borne material

(B) Fine wind deposited material
(C) Fine glacial material

(D) Fine wave deposited material
In what type of a climate regions
are bajada surfaces found?

(A) Humid tropics

(B) Dry tropics

(C) Coastal areas

(D) Snow-covered areas
Carboniferous period is a part of:
(A) Pre-cambrian Era

(B) Mesozoic Era

(C) Paleozoic Era

(D) Canozoic Era

What is the best source of  infor-
mation about the interior structure
of the earth?

(A) Volcanic activity

(B) Earth's behaviour during tides
(C) Seismic waves

(D) X-rays and infra-red rays
What is the primary cause of the
day and night.

(A) Earth's annual motion

(B) Earth's daily motion

(C) Inclination of Earth's axis and

its rotations

(D) Inclination of Earth's axis and

revolution.

553\F
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29. The correct sequence of given

30.

31.

planets in increasing order of their

distance from the sun is:

(A) Mercury, Venus, Mars, Saturn
and Jupiter

(B) Venus, Mercury, Mars, Saturn
and Jupiter

(C) Mercury, Venus, Mars, Jupiter
and Saturn

(D) Venus, Mercury, Jupiter, Mars,
and Saturn

Which one is an igneous rock?

(A) Clay

(B) Limestone

(C) Basalt

(D) Dolomite

"Landscape is a function of struc-

ture, Process and time" whose

statement is this?

(A) G.K. Gilbert

(B) Davis

(C) Aristotle

(D) C.D. Dutton

553\F
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30. Fre=rifeg 8§ ¥ o 3w agH 82

(A) AH
(B) FAIRR
(% 515
(D) EEMEe

31. “ERIGA G Wb vd ang o et
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(A) at.®. Riead

O

(C) 3R

(D) ®.H =

P.T.O.

http://www.csjmuon]ine.cdm

wod durjuonuilso mmm//:dny



wod durquonwilso mmm//:dny

32.

33.

34.

35.
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The Continent from which the
Equator, Tropic of cancer and
Tropic of Capricorn pass through?
(A) Asia

(B) Europe

(C) Africa

(D) Australia

Which of the following rocks is dif-
ferent from the remaining three on
the basis of its mode of origin?
(A) Limestone

(B) Sandstone

(C) Shale

(D) Marble

Which one of the following hypoth-
eses was presented by James
Jeans?

(A) Tidal

(B) Nova Theory

(C) Nebular

(D) Planetesimal hypothesis
Who studied 'Oceanic deposits' for
the first time?

(A) Davis

(B) Murray

(C) Darwin

(D) Wegner

553\F
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35.
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38.
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Limestone 1s an example of:

(A) Sedimentary rocks

(B) Metamorphic rocks

(C) lgneous rocks

(D) Volcanic rocks

To whom "Geosynclines" has close

relation?

(A) Volcanoes

(B) Earthquake

(C) Gravitation

(D) Folded Mountain

In the process of erosion the re-

moval of material by solution is

called:

(A) Attrition

(B) Sabbing

(C) Currasion

(D) Abrasion

Mark the correct statement

(A) Basalt has larger crystals than
granite _

(8) Basalt has smaller than gran-
ite or no crystals at all

(C) Both Basalt and granite have
no crystals

(D) Granite has no crystals but

basalt has larger crystals

36.

37.

38.

AT TR JETRIT &

(A)/3rEaue) gl &1
(B) SRR TZAT &I

(C) 3= 98l &I

(D) ST Tgl &l
Tl & o ufte wvaww 82

(A) SETEmE!

(B) y&w

(C) Tcaador

(D aferar i Ao

I Req fipar # faera= gR e &
TG, BT & :

(A) Seror

(B) 3RIGT

(Cy FaRT

(D) 3Tador

39. T8 &Y & fufea e :

(A) ST T2FI # I1EE DI el
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BIE HT 814 A1 =78l 8

(C) s¥Tee 3R Yeree A=t wor &
g g

(D) e # Bu 7 AY FaH
s e Fur A &
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World's maximum volcanoes are
found in the belt of:

(A) Indian oceanic belt

(B) Mid continental belt

(C) Atlantic belt

(D) Circumpacific belt

More than 90% of the rock form-
ing minerals in the earth's crust
consist:

(A) Silicate

(B) Oxides

(C) Carbonate

(D) Sulphides and Sulphate

Rift valley is the result of:

(A) Fold

(B) Fault

(C) Nappe

(D) Warping

Which of the following continents
extends over all the four hemi-
sphere?

(A) Australia
(B) North America
(C) South America

(D) Africa

553\F
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40.

42.

43.
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The wavy shape originated from
volcano is:

(A) Lopolith

(B) Batholith

(C) Faccolith

(D) Laccolith

The characteristic of a 'blind valley'
is that:

(A) It has no outlet

(B) It is occupied by forest

(C) It has no stream

(D) Itis a theoretical concept only
The density of the earth as a whole
is:

(A) 2.7

(B) 3.5

(C) 5.5

(D) 5.2

Hanging Valleys are associated
with:

(A) Wind action

(B) Glacial action

(C) Wave action

(D) River action

553\F
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44,

45.

47.
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(A), Arifer
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(A) P @ T8 g
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Karst land forms are made by: 48. I WITTHe! gl & :
(A) Waves in coastal areas (A) ada &3t & aRi gRT
(B) Wind in the semi arid region (B) 3 gHweid &l 3 arg a1
(C) Water in Limestone regions (Q)/qé ¥ y2uit # I & eI
(D) Glaciers in the coastal regions (D) @iy &l d femrt g
49. Which of the following relief fea- 49, ﬁmﬁaﬁ@aﬁqﬁmm
tures is associated with glacial ac- ¥ mdl d watea 8?2
tivities. (A) st
(A) Lapies
(B) Eskar &) ,
(C) Ripples (C) 3w
(D) Inselberg (D) FRera
50. Horse Latitude lies in: 50. 3 iefier e & -
(A) 40°-50° North and South Lati- (A) 40°-50° 3 vd afaol sraren
tudes 3
(B) 25°-30° North and South Lati- (B) 25°-30° I’ vd afaoft srarien
tudes 4 _
(C) 30°-35° North and South Lati- \(9/%0"-350 T vd afaoh arared
tudes A
(D) 45°-50° North and South Lati- (D) 45°-50° 3% vd afdroft spers
tudes b
51. Monsoon winds are: 51. AMYH &A™ & -
(A) Continuous (A) TR Ter arch
(B) Non-Continuous (B) TR 7 T arch
(C) Seasonal (Q/Iﬂﬂt?t
(D) None of these (D) Eﬁﬁﬁéqﬁ
553\F [12]
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Which one of the following layers

wod durjuonuilso mmm//:dny

52. Frifa %  agrea B B W RA
of the atmosphere is responsible W wit % WiadH 8 &1 BROTE -
for the deflection of radio waves? (A) &y
(A) Troposphere _
(B) HAI ASA
(B) Stratosphere
(C) Exosphere (C) dfeeioea
(D) Ionosphere (D) HUSA
53. Percentage of nitrogen in earth's 53. [ % AEIERYT F A BT Hiad g
Atmosphere is: (A) 98%
(A) 98%, (_B)/78°/o
(B) 78%
(C) 21%
(C) 21%
0,
54. The Ozone layer in the atmosphere 54. Qg #osEl # S WRd IR © -
causes: (A) ol B9 & T[4
- (A) Rainfall (B) WguU 3d &< & o
(B) Creates Pollution W ® S @ S Rt
(C) Protect life on earth from ul-
. . Jgan & o
traviolet radiation :
(D) Produced Oxygen in the at- (D) arRgAvse # JifeiisH qd A
mosphere &
55. What do isotherm indicate? 55. WA 3EE R veifa aar &2
(A) The hight of Particular areas .
. : “(A) & & & Fard
(B) The rainfall in certain areas
(C) The temperatures in particu- (B) foi drr ot st
lar areas (W & BT aH
(D) The Snowfall in some areas (D) ot & & afaEr
553\F [13] P.T.O.
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56. Maximum part of solar energy is

in the form of:

(A) Long rays

(B) Short rays

(C) Medium rays

(D) Ultraviolet rays

57. The correct sequence of different

layers of atmosphere from the

surface of the earth upwards is:

(A) Troposphere, stratosphere,
Ionospheres, Mesosphere

(B) Stratosphere, Troposphere,
Ionosphere, Mesosphere

(C) Troposphere, stratosphere,
Mesosphere, Ionosphere

(D) Stratosphere, Troposphere,

wod durquonwilso mmm//:dny

Mesosphere, Ionosphere
58. In which of the following regions,
rain occurs in winters and summers
are dry?
(A) Equator
(B) Tundra
(C) Monsoon

(D) Mediterranian

553\F [14]

56. o1 AR TN o waied W g & -

57.

(A) & ain &

@/ag aat &

(C) Aemw alm &

(D) TR AW BT

gedt B g ¥ FR P 3R AGAVSA

@ o=al BT AE A & -

(A) eNFUsSE, WHHY FUSH,
RS, HEAHSH

(B) HFAIY FVSH, &1 FHUSH,
AU, HEIHUSE
ST

(D) |¥aI AvEH, ﬂ-?mqtrgﬁqwquga
HTIHvSE

58. Freafoa % 3 fow & o Serorer 4

a5 o T e < &2
() foge ¥

8) g

(C) g

O
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59. Which of the following is a cold 59, frmifin # % @i vl e 87
wind?
(A) Chinook ) ﬁﬁ@
(B) Bora (B) A
(C) Fohan (Q)wied
(D) Sirracco (D) R
60. Where is Doldrums Belt Located 60. e Y FEl Fera &?
(A) Near Equator (A) _357e a1 & U6
(B) Near Poles (B) gdi &
(C) Near Tropic of Cancer (C) &b @ & I
(D) Near Tropic of Capricorn (D) HaR G & T
61. What is measured with the help of 61. B ﬁ)_\q_ﬂ-qm R ST 22
Nefometer? :
(A) Amount of rainfall (A) i it =
(B) Speed and direction of (B) Qi & feen vd i
Cloudes (C) | T & AT
(C) Quantity of salinity in the sea
(D) All of the above (D) 37w =
62. The influence of elements of 62. HAIH & dadl &1 WA §4I W THE BT
| weather on Land forms is studied areaas feae sraia aa &°
under: (A) AREA
(A) Erosion (B)-RAERT
(B) Morphometry (C) 3wer
(C) Weathering (D)
(D) Denudation
[15] P.T.O.
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63.

64.

65,

66.

553\F
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In which of the following zones of
the atmosphere, ozone gas is
found?

(A) Troposphere

(B) Stratosphere

(C) Ionosphere

(D) Exosphere

As we go higher into the atmo-
sphere, the air becomes:

(A) Thinner

(B) Denser

(C) Warmer

(D) Visible

The hight insolation dn March 21
and September 23 is received at:
(A) Tropic of cancer

(B) Equator |

(C) Trdpic of Capricorn

(D) All of the above

Which forces are responsible for .

the formation of the erosional land
froms?

(A) Endogenetic forces .

(B) Exogenetic forces

(C) Tectonic forces

(D) Volcanic forces

[16]

64.

65.

66.

3 i o S @7
(A) &NHAUSH
’(_EP/'HIJHTWE?T

~(C) 3o HUsH

(D) dfesiuser

qrgevse § S W IH W 9y gni:
(1) o

(B) “u

(C) ™

(0) e
Hﬁ213ﬂ?ﬁ?ﬁﬁ?236§f3ﬁ]‘ﬁﬂlw

WIS B & -
(A) &5 @ W

(B) e T
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Willy-Willy cyclone are of what

type?
(A) Temperate Zone

(B) Sub-temperate Zone

67. fach-Reh Rt wor & e &7
(A) MawRaiy
(8) To-aw sieaia

wod durjuonuilso mmm//:dny

(C) T‘roplcal Zone M I
(D) Polar (D) gda
68. The rain fed and rain shadow ar- 68. gfc Wiftra e gfe erar & &t fagoar
eas are the characteristic of the: -
(A) Cyclonic rainfall (A) dsparh asf
(B) Convectional rainfall (B) Wagig gl
(C) Orographic rainfall (E)/@h'a Gl
(D) Thermal rainfall (D) =i et
69. Which one of the following zones 69. wﬁﬁqﬁmﬁﬁﬂqﬁﬁmﬁ
of atmosphere contains 'mother of Wﬂ o 5 E
2
pearl cloud"? (A) &
(A) Troposphere
_ (B) HHAM HUSCA
(B) Stratosphere
(CY Fra=HUSH
(C) TIonosphere
D) afedvsd
(D) Exosphere (D)
70. Thunder storms aré associated 0. dfd Fen Stea 8 &
with: (A) HURY e
louds -gff s 9
(A) Cumulus C (B) Rl
_nimbus clouds :
(8) Cumulo-n (C) vem™ Te ¥
. < .
(C) Cirrus cloud (D) WK g |
ds
D) Stratus clou i
(D) (171 P.T.O
553\F .
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71. Instrument used to measure earth-

quake is:  http://www.csjmuonline.com

(A) Sismograph
(B) Climograph
(C) Hydrometer

(D) Barometer

72. Generally, The tropical cyclones

move from:
(A) East to West
(B) ‘North to South
(C) West to East
(D) South to North
73. Aphelion condition occurs on:
(A) 3 January
(B) 21 June
(C) 4 July
(D) 22 December
74. Mango showlers occurred in:
(A) Assam and Bengal
(B) South India
(C) North-West India
(D) North India
'75. Temperate cyclone are found be-
tween latitudes:
(A) 0°-10°
(B) 10°-3¢°
(C) 30°-60°
(D) 60°-85°

553\F

[18]

71.

72.

73.

74.

75.

&/ ¥ o @
(B) IR 3 &fémor &
(C) ufeew & gd &
(D) &f&or | IR B
IR o Reafer S &

(AY 3 Sadt

(B) 21 5A

(C) 4 Femg

(D) 22 frR

3y aef By & -

(A) 3™ 3R e §
(BY-Shmor 9Rer

(C) 3-uf¥entt wre &
(D) T wRe 3
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76. In India maximum rainfall get from 76. mﬁﬁmmaﬁwﬁmw
which type of rainfall? I B 87
(A) Conventional (A) HarA
(B) Cyclonic (B) THawid
(C) Orographic . (ﬂ(_:)/qéﬁm
(D) None of these (D) ¥ F BT

77. Who has given 'Continental drift 77. wedd var fugm few faare

theory'? ( W

(A) Wegner

(B) wfras W=

(B) Lowthain Green <
(C) Dely

" (D) Jolly (D) Seh

78. Which of the following types of 78. Freferfen SEEmd SR FORI A |

volcanic Eruption is not usually ex- a7 v fweies @ gar?
plosive? (A) SR
(A) Pelean (8
(B) Hawaiian © @ﬁm 1
(C) Strombolian oy s

(D) Vulcanian

. 3.
29. Earthquake prone country Is: 79. W
A
(A) Japan | (

() Iraq (B) ¥d
(C) India ‘ (€) HRa
(D) Malaysia (D) weiRwa
e (191 ! P.T.O.

http://www.csjmuonline.com
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80. Which of the following is a warm

81.

82.

83.

553\F

ocean current?
(A) Labrador current
(B) Canaries current
(C) West Australian
(D) North Atlantic current
What is an Estuary?
(A) The mouth of the river that is
clogged with silt
(B) The submerged valley of a
glacier
(C) The valley of a river that ex-
tends into the sea
(D) The coastal part of a river
valley that is enclosed behind
a sand bar in the sea
Which of the is found abundantly
in the sea water?
(A) Sodium Sulphate
(B) Sodium Chloride
(C) Calcium Chloride
(D) Potassium Chloride
Which one of the following is coid
current?
(A) Counter equatorial
(B) Gulf Stream
(C) Brazilian
(D) Canari

(20]

PrfrRaa 3 @ @i mf ARG ol
&7
(A) OFER Ul
(B) IS URI
(C) uRed sifRgfera ey
(P}.aaﬁmaﬂmﬂm
81. e &l Kl ¢ :
(A) qﬁﬂgﬁsﬁmﬁmm
&
(B) s e & e gl
(C) Ao =& & et 3 T # S
&
(D) &N & ot &1 g W A
T H o ag At & WY 5
grar g
82. ﬁﬁ%ﬁaﬁﬁﬁmﬂgﬁmﬁw
¥ urar e #?
(A) Aifsaw wase
{(B)Bfsam wirgs
(C) Bfeeraw awirms
(D) dWRRTM weiRmEs

80.

8. Freffe ¥ % o o 581 sy

&l
(A) srf%rammi@q

(8) T Fiw
(C) mitferas

(D)t
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X alinity in oc
ga. SAMY AN occan wager decreases
when: 84, wgrmia F@ ¥ caorn wed @ 5
(A) Evaporation j more (A) arearon aiftrss g 2
(B) Wind velocity is high (B) & am iftrw &
(C) Rainfallis heayy (E)/ WY auf @ @
(D) Humidity is high (D) s aift B 2
85. The largest number of Atolls exist 85. e waifte wem ¥ Rea @ -
in: .
(A) f&= weemR ¥
(A) Indian Ocean .
(B) 3 WERIR ¥
(B) Atlantic Ocean .
(C) ndfed AR &
(C) Arctic Ocean
)/ﬁwa TR A
(D) Pacific Ocean e
86. The average salinity of oceans is: 86. FETATRI B Jid TaURT ¢
(A) 35% M%
(B) 40% (B) 40%
(C) 45% (C) 45%
0,
(D) 46% (D) 46%
. . 3 HAEETR] &
87. Which among the following depos g7. Fpafafaa Fedi § 4 o
its is found in the deepest parts of TE T W F Oran S 8
the oceans? (A) TSR F51
(A) Globigerina 00Z€ (B) T HUH S
(8) Calcareous 00%€ ()
(C) Red clay (D) iz F
(D) Pteropod Ooz€
[21] P.T.O.
553\F
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88. Maximum salinity is found in: 88. Ffrdpaw davrar ey & -
(A) Black Sea (A) @I AR A '
(B) Red Sea (EDEE TR
(C) Dead Sea (CyHa aR A
(D) Caspian Sea . (D) S a4

89. Where is the bi i
r biggest barrier Coral 89. fiva & FeA a8 IRYF yared A

reef found in the world? -
: FEl Uiy Sy 22

(A) Frgferan & @l dc W
(B) 3IRgferen & ai¥adr @ W

(A) Eastern Coast of Australia
(B) Western Coast of Australia

(C) Eastern Coast of Africa

(D) Western Coast of North- (Q)Amr & T ¢
America (D) 3R 3mRa & af¥Tdl ac W)

90. Which one of the following is not a 90. Fr=ifiRaa ¥ ¥ ok 32 ary & &2

cold current? (A) FWER G

(A) Labrador Current (8) T

(B) Canary

(C) GuIf Stream W -\fm

(D) Benguela Current (D) & R
91. World's busiest sea routes are 91. WOR ¥ Faits == T Al g

. found in: _ T !

(A) Mediterranian Sea (A) YT AR H

(B) Red Sea . (B) et WFR §

(C) North Atlantic Ocean’ m D TEAR J

(D) North Pacific Ocean (D) Y W WERMR §

553\F [22]
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92.

93.

94,

95.
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Kuroshio current flows:

(A) North along Japan Coast

(B) South along Japan Coast
(C) North along Chile Coast

(D) South along Chile Coast
Name the warm current of Indian
Ocean:

(A) Agulhas Current

(B) Canaries Current

(Cj Benguela Current

(D) Oyashio Current

Who propounded the stationary
wave theory of the origin of tides?
(A) W. Whewell

(B) T. Garrison

(C) R.A. Harris

(D) A. Strahler

Which one of the following is not
correctly matched?

(A) Dolinqs-Undefgmund water
(B) Yardang-Glacier

(C) Levees-River

(D) Zeugen-wind

553\F

[23]

92. FRINME ary vt &

93.

94.

95.

(A) ™ & I 99 fER
(B) U= & afemh W PR W
(C) foeh & efamlt W PR W
(D) foelt & 370 T PR W

MR A WMo @ -

AV T TRl
(B) IR &RT

(C) Fgee oI

(D) 3efREh arT

SaReT B ety & wiferes s Rygr=r
@1 wieare e fare

@ 4

(B) @.iRw=

(C) R.u.eR«

(D) €. W/WIR
Prefafea & ¥ o 9@ gafm &
2l

(A) SreTr-yfT. 3

(B) GRET- R

(C) dede-Té

(D) -9

P ITIO.
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96. Winter rainfall is the characteristic 96. 33 I Fui B faduan 2 :
of (A) Wﬂ e
(A) Equatorial region (W e e
(B) Monsoon region -
(C) Desert region (©) R 59 B
(D) Mediterranian region (D) W e B
97. The main source of Carbon Mon- 97. TRIHUSA H HIaH AAIHITFS BT &
oxide in atmosphere is: Id 2l
(A) Automobiles (Q)/@‘:Imﬁ-rﬁ aed
(B) Oil refineries (B) ¥ ger wmemrd
(C) Refrigerators (C) Whaex
(D) Thermal Power Plants (D) am ufts Ta=
98. Which of the following is no a bio- 98. fFrafeRea # ¥ o 91 Aa-y-wmat®
geochemical cycle? H Tal 87
(A) Carbon Cycle (A) o7 a%
(B) Nitrogen Cycle (B) RGN %
(C) Cycle of Erosion () 3e U
(D) Oxygen Cycle (D) JHERiSH Tp
99. Which of the following is a natural 99. Frfofaa & ¥ B mofie smwer 27
hazard? (A) Yo '
(A) Earthquake (B) 5
(B) Volcano
(C) Draught (©) e
(D) All the above LD/)/:N% W
100.An ecosystem includes: 100.75 WiRReifert o7 & e 2 -
(A) All plants and trees (A) it O3-digy
(B) All organisms (B) ¥4 S 5y
(C) Allinsects (C) T aﬁg.qaﬁ%

http://www.csjmuonline.com

(D) All of the above (D) 5w oy

553\F [24]
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